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() (X) X y2 x"2 Xy
1 233.0 266.0 -29.4 -30.3 865.54 920.52 892.60 22854 4.46
2 2437 2794 -18.7 -16.9 350.44 286.96 317.12 24350 0.20
3 251.0 291.1 -114 -5.2 130.42 27.46 59.84 256.57 -5.57
4 256.9 295.6 -5.5 -0.7 30.47 0.55 4.08 261.59 -4.69
5 260.3 297.8 -2.1 15 4.49 2.13 -3.10 264.05 -3.75
6 267.3 302.2 49 5.9 23.81 34.34 28.60 268.96 -1.66
7 272.0 305.0 9.6 8.7 91.78 75.00 82.96 272.09 -0.09
8 278.6 305.5 16.2 9.2 261.79 83.91 148.21 272.65 5.95
9 281.2 309.1 18.8 12.8 352.69 162.82 239.63 276.67 453
10 280.2 3117 17.8 154 | 316.13 235.93 273.10 27957 0.63
262.4 296.3 242756 | 1829.60 | 2043.05
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Ho: b=0, Ho: a=0

2
6.
2 2
S, Sy, SXy
R Cc17 C18
Cc17 = H13"2/(F13*G13)
C18 = H13/SQRT(F13*G13)
7.
a,b 1) Ho: b=0 2) Ho: b=0
L
K 2 K13
K15 =K13/8 s2
E15 b t =C15/SQRT(K15/G13)
E16 a t =C16/SQRT(K15*(1/10+C13"2/G13))
to.o5 8
=TINV(0.05,8)
8.
Excel

to.os



